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6. 45°<x<90° ¥, \/(1-tanx)? 2] Gt2?

@D 1-tanx @ tanx+1 @tanx—l
@ 1 ® 0

45° < x < 90° ¥ ], tan45° < tanx ©]E = tan x > 1 ©|t}.

mWEhA 1 —tanx < 0 ©]2, /(1-tanx)?2 = —(1 - tanx) =
—1 + tan x ©]t}.




7.

(1) sin 55° = gO]EE

X = 8sin55° = 8 X 0.82 = 6.56
o8 55° = golE_E._

y=28c0sH5° =8 x0.57 = 4.56
(2) cos50° = %o]—‘:—'i

x=25¢c0sb50°=5x%x0.64 = 3.2
sin50° = gomg

y=>5sin50°=5x0.77 = 3.85




8.  sin(2x + 30°) = cos(3y — 45°) & W, 4x —y O] & FSHH? (H,
0° < x<30° 15° <y <45°)

@0" @ 2 ® 18 @ 30° ® 45°

sinx = cos x 91 x = 45° o|t}. WhA] 2x430° = 45°, 3y—45° =
45°
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x="",y=30 o|tt, wabA] 4x — y = 30° — 30° = 0° o]t}




